Lesson 2.5

Name Enrich
Alphabet Estimation

Find two sets of compatible numbers for each problem.
Write the letters of your answers on the lines provided.

1. 87)6066 (A) 2,800 + 70 (Q) 4,000 + 80
2. 74)3227 (B) 1,800 + 30 (R) 3,500 + 70
3. 62)4,635 (C) 2,400 + 40 (S) 1,400 + 70
4. 94)7,542 (D) 1,400 + 20 (T) 7,200 =+ 90
5. 44)3521 (E) 6,300 + 90 (U) 3,600 + 40
6. 31)1,929 (F) 6,400 + 80 (V) 5,600 + 80
7. 47)3255 (G) 4,800 + 80 (W) 3,600 + 90
8. 75)6,000 (H) 4,800 =+ 60 (X) 4,200 = 60
9. 83)4,300 (1) 3,000 + 50 (Y) 1,200 = 20
10. 29)1,433 (J) 2,700 + 90 (Z) 2,100 =+ 70
1. 19)1274 (K) 2,800 + 40 (AA) 5,600 + 70
12. 65)1,681 (L) 1,500 + 30 (BB) 5,400 + 90
13. 36)2,281 (M) 8,100 + 90 (CC) 2,700 + 90
14. 92)2,899 (N) 3,500 + 50 (DD) 3,200 ~+ 40
15. 88)2,000 (0) 1,200 = 30 (EE) 1,800 + 90
16. 72)5525 (P) 2,100 + 30 (FF) 4,900 =+ 70

17. Stretch Your Thinking Which letters
have a quotient of 70? Which letters
have a quotient of 807

18. @ Write Math > Write a division
problem that has a 2-digit divisor and
estimated quotients of 50 and 60.
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